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(2015 3" 12 ~ 2016 22 292 HX|)
1.=¢ (El: 2l)
s 2015EE | 201449 % = 5 o dE2A
2| 8 2 Ofl & F30a == o = 2 oH()
5200 MY I|12+¢ 76,000 45,700 30,300
5210 Mel24¢ 76,000 45,700 30,300
5217 lAI Q2 76,000 45,700 30,300 [P 22 ArRISI 2 B2 76,000,000
5400 W2+ 535,411 921,164 —-385,753
5410 0l 20| Rt==¢l 534,641 918,867 ~384,226
5411 0 201X 534,641 918,867 -384,226 > 422 FHII0I2 0l X4 534,641,199
5420 WS 8|4¢l 20 1,547 ~1,527
5421 &g 20 1,547 ~1,527 | > 2 ObAI ®RHAI D A4 248 20,000
5430 =2 T &t= 750 750 -
5431 Y242l 750 750 - P EX U2 > 750,000
1200 S X+ 2D EFXHak 2l 23,412,947 | 45,412,947 |-22,000,000
1220 S XFRHAH 2! 23,412,947 | 45,412,947 | -22,000,000
1229 JIEFE X RHA 421 | 23,412,947 | 45,412,947 |-22,000,000 || Q! 2018 THaF HI[0f2 2 23,412,946,400
=BT | 24,024,358 | 46,379,811 |-22,355,453
DIAFZ & | 0| 2 K2 9,806,079 850,051 | 8,956,028 | > DIALZ & | 0|2 A2 9,806,079,000
JIEHDIAFE M0 X2 | 9.677.438 680,716 | 8,996,722 [P REXN2 - RS2 9,677,437,860
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3/9




A =

Odl

o M (E

0l QI B})

(20154 3& 1Y

~ 2016 23 292Xl

- =
)

2. N & (9l @)
= 20158 < 20148 = = o1 on e
o & S Ofl & =Z0& -0 e S ()
4100 £ 89,100 152,525 -63,425
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VIR == 100,000
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PISAHEEERSS 1,600,000
4125 2 AIE Q124 - 2,097 -2,097
4126 = ¢ - 1,755 -1,755
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4221 O1H| W EH| 1,000 1,500 -500 [P =& OiHl W EY 1,000,000
4223 A DEH| 300 400 —100 [P &0 ADE o 300,000
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&4 = 20159 & 20144 & = 51 on aHE2 A
2 S 0l & =30t - o= S(2)
YEFFCENEEECT = 180,000,000
POiSD DY 20HSRLS 47,059,000
POiStD N AYRESSS 110,648,000
POiSD DR DEBHILYS 24,277,000
POistD D M2 s 14,400,000
POiStD Xl AS 2R3 103,800,000
POistD X Zoioaeez 59,316,000
POiSI D MY HABEHLLS 82,783,000
POistD XN DRSS 19,710,000
BENEER R 4,824,000
4600 OllHIH| 516,879 50,000 466,879
4610 0l b 516,879 50,000 466,879
4611 ol 516,879 50,000 466,879 | » 0fl 81t 516,879,000
1200 EXIQIIELAHA X & 25,112,947 | 34,412,947 | -9,300,000
1210 & X3t 0 1,700,000 - 1,700,000
1213 208t 1,700,000 - 1,700,000 | > &£ XI5 W ZAH X2 1,700,000,000
1220 EXKALKI S 23,412,947 | 34,412,947 | -11,000,000
1229 JIEFE XA K| & 23,412,947 | 34,412,947 | -11,000,000 [P &0l &01= Tar HI|02 O X 23,412,946,400
1300 DE R K& 6,079,583 899,779 5,179,804
1310 RS D NANYXIE 6,079,583 899,779 5,179,804
1312 A S04 Y| 6,079,583 201,662 5,877,921 [p 212 &l1= 6,079,583,000
1313 220124 - 407,220 ~407,220
1315 X JIHI B0 H] - 140,580 ~140,580
1319 A& JPHIE - 150,317 -150,317
ERIEE] 33,646,867 | 37,423,783 | 3,776,916
DIAFZ XID(0] 2 A2 183,570 9,806,079 | -9,622,509 [P OIAIEXII0IE X2 183,570,000
IENNELINENE 108,720 9,677,438 | -9,568,718 - RE27 108,720,232
S OIA 74,850 128,641 ~53,791 74,849,768
I 2 X & 2 33,830,437 | 47,229,862 | -13,399,425
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== 0121 2(A) 0121H| £2(B) 1915 7% (B/A)
=3 2 81,500,000 40,750,000
RIS (21 DH A1) 1 1,000,000 1,000,000
SEE=tE 2 6,600,000 3,300,000

g 89,100,000 45,050,000
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